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8T =0T +8 LT =0T+ /. OT =0T +9 ST =0T +S
LT =6+8 OT =6+. ST =6+9 PT =6+G
OT =8+8 ST =8+/ PT =8+9 €T =8+9
ST =.+8 PT =.+1 ET=.+9 CT=.+9
PT =9+8 ET=9+/. CT =9+9 TE =9+9
€ET =G+8 CT =G+/. TT =6G6+9 OT =G+9
CT =v+8 TT=Vv+. OT =v+9 6=v+8
TT =€+8 OT =¢€+. 6 =€+9 8 =€+69
OT =¢Z+8 6=2+1. 8=¢+9 L=2C+S
6=T1T+8 8=T1T+/. L=T+9 9=T1T+6G
8=0+8 L=0+/ 9=0+9 G=0+9
9+0=9 3+0=3 4+0=4
9+1 =10 Les tables d’additions 3+1=4 4+1=5
9+2 =11 3+2=05 4+2=6
9+3 =12 3+3=6 A+3=7
9+4=13 vz 02 3+4=7 4+4=8
9+5= 14 1+2=13 2+2=4 3+5=8 4+5=9
9+6=15 i3Te iz 3+6=9 4+6=10
9+7 =16 1+5=6 2+5=7 3+7=10 4+7=11
9+8=17 1+6=7 2+6=8 3+8=11 4+8=12
9+9=18 i:;:g ;I;:go 3+9=12 4+9=13
9+10= 19 1+9=10 2+9=11 3+10=13 4+10= 14
Appartient & : 1+10=11 2+10=12
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